
956,95  x  100   =  293,022  x  10000   =  

16,04  x  1000   =  83,67  x  10   =  

40,875  x  10000   =  293,403  x  1000   =  

114,78  x  10   =  644,474  x  100   =  

962,033  x  10000   =  141,158  x  10   =  

69,04  x  10   =  1,82  x  100   =  

630,249  x  10   =  32,747  x  10000   =  

71,98  x  100   =  311,93  x  10   =  

5,67  x  10   =  3,936  x  1000   =  

27,123  x  10000   =  57,79  x  100   =  

29,947  x  10   =  809,07  x  10000   =  

73,539  x  1000   =  73,7  x  10   =  

366,39  x  1000   =  26,93  x  10   =  

84,81  x  10   =  58,816  x  10   =  

817,371  x  1000   =  993,039  x  100   =  

99,04  x  10   =  255,421  x  1000   =  

2,398  x  10   =  88,79  x  100   =  

379,19  x  10   =  46,24  x  10   =  

198,882  x  1000   =  73,32  x  1000   =  

623,629  x  100   =  98,03  x  10   =  



956,95  x  100   =  95695 293,022  x  10000   =  2930220

16,04  x  1000   =  16040 83,67  x  10   =  836,7

40,875  x  10000   =  408750 293,403  x  1000   =  293403

114,78  x  10   =  1147,8 644,474  x  100   =  64447,4

962,033  x  10000   =  9620330 141,158  x  10   =  1411,58

69,04  x  10   =  690,4 1,82  x  100   =  182

630,249  x  10   =  6302,49 32,747  x  10000   =  327470

71,98  x  100   =  7198 311,93  x  10   =  3119,3

5,67  x  10   =  56,7 3,936  x  1000   =  3936

27,123  x  10000   =  271230 57,79  x  100   =  5779

29,947  x  10   =  299,47 809,07  x  10000   =  8090700

73,539  x  1000   =  73539 73,7  x  10   =  737

366,39  x  1000   =  366390 26,93  x  10   =  269,3

84,81  x  10   =  848,1 58,816  x  10   =  588,16

817,371  x  1000   =  817371 993,039  x  100   =  99303,9

99,04  x  10   =  990,4 255,421  x  1000   =  255421

2,398  x  10   =  23,98 88,79  x  100   =  8879

379,19  x  10   =  3791,9 46,24  x  10   =  462,4

198,882  x  1000   =  198882 73,32  x  1000   =  73320

623,629  x  100   =  62362,9 98,03  x  10   =  980,3


